
page 1

The Red Knight – Reader Answer Key Level 3

The Red Knight

Reader
Answer Key

C
op

yr
ig

ht
 ©

 L
ad

yb
ir

d 
B

oo
ks

 L
td

, 2
01

7



page 2
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Page 47– Activity 1

1	 joust 
2	 knight 
3	 lance 
4	 castle

Page 48 – Activity 2

1	 gold coin 
2	 neck 
3	 old knight 
4	 armor 

Page 49 – Activity 3

Reader’s own answers
Model answers
In picture a, Will is not there.
In picture b, Will is there.
In picture a, there is a horse.
In picture b, there is not a horse.
In picture a, Tom does not have a gold coin.
In picture b, Tom has a gold coin.

Page 50 – Activity 4

1	 yes 
2	 yes 
3	 no 
4	 yes 
5	 no

Page 51 – Activity 5

1	 came 
2	 was 
3	 wanted 
4	 could 
5	 be

Page 52 – Activity 6

Reader’s own answers
Model answers
In picture a, Tom is next to the knight.
In picture b, Tom is behind the knight.
In picture a, there are seven people.
In picture b, there five people.
In picture a, there are two men behind  

the knight.
In picture b, there are two women behind  

the knight.

Page 53 – Activity 7

1	 The knight’s horses were ready and they 
ran fast.

2	 Then, the Red Knight’s lance broke!
3	 Tom ran fast and he gave the Red Knight  

a new lance.
4	 The Red Knight won the joust.
5	 “Well done, Red Knight!” called all  

the people.

Page 54 – Activity 8

1	 It broke. 
2	 Tom ran and got a new one. 
3	 The Red Knight won the joust. 
4	 Yes, they were. 
5	 Yes, he did.

Page 55 – Activity 9

Reader’s own answers
Model answers
1	 Picture d is different because it is not Tom.
2	 Picture b is different because the Red 

Knight is wearing all of his armor.
3	 Picture d is different because the  

lance broke.
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Page 56 – Activity 10

1	 a 
2	 a 
3	 b 
4	 a 

Page 57 – Activity 11

Reader’s own answers
Model answers
1	 How many knights are there? There are 

two knights.
2	 Where is Tom? He is in front of the  

Red Knight.
3	 What is Tom saying to the Red Knight?  

He is saying “I was a knight’s boy before 
and I can be your boy now.”

4	 What are the Red Knight and his horse 
wearing? They are wearing armor.

Page 58 – Activity 12

1	 old days 
2	 lance 
3	 strong and quick

Page 59 – Activity 13

1	 a 
2	 b 
3	 a 
4	 b 

Page 60 – Activity 14

1	 a 
2	 a 
3	 a 
4	 a 

Page 61 – Activity 15

Reader’s own answers
Model answers
1	 How did knights travel? Knights traveled 

on horses.
2	 Did knights need a boy? Yes, they needed  

a boy.
3	 What was the boy’s job? The boy’s job was to 

clean armor.
4	 Did knights like living in the castle, do you 

think? Own answer

Page 62 – Activity 16

Reader’s own answers

Page 63 – Activity 17

1	 no 
2	 yes 
3	 yes 
4	 no 
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